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BXix 1 1,721 225 24 1,970 : 600 130 100 850 1,970+ (850 x H%4)
BEXi® 2 3,634 225 48 3,907 : 600 130 100 850 3,907+ (850 x HED)
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BXix 1 3,442 450 48 3,940 I 600 130 100 850 3,940+ (850 x H %K)
BEXi® 2 1,268 450 96 1,814 : 600 130 100 850 7,814+ (850 x HED)
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OYNEYT—23 0T Rw oAV MNE 660M.” H
OXRBHUEME 300 H
OXRBRY)—=ZVTME 10A.7[E (6 AIC1[EIZERE)
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EXi{E2 96MH/A
OMEBANENEME(T) (EARHE+MENE) X4. 7% A
ONEBAEFRHELEREMR(D) (EXRHE+MEHE) X1. 7%.A
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BEXiE 1 9,163 675 12 9,910 : 600 150 100 850 5,910+ (850 x H %K)
BEXiR 2 10,902 675 144 11,721 : 600 150 100 850 11,721+ (850 x HED)
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